==
N = 0] &F AF S & AN A
2020 & RO A QUHSIH ALSIE KA D
2 MIEHHMX D
M A HAMI B2 =
Sl MARIMER S5 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AFS & A H X & 21,359,306 17,771,884 3,587,422
= 10,717,753
g 2,811,000
= 937,013
Al 6,893,540
IR RSN DI R = 6,335,800 5,534,909 800,891
= 1,344,900
= 2,811,000
& 665,390
Al 1,514,510
AMSIHAHZTE 4 6,325,100 5,527,529 797,571
=2 1,344,900
g 2,811,000
o= 665,390
Al 1,503,810
0sJ1g &4 50,000 50,000 0]
hag 25,000
o= 7,500
Al 17,500
307 2I2t0| ™ 50,000 50,000 0
Fag 25,000
= 7,500
Al 17,500
02 I F A AL B X 50,000 50,000 0
O0ES2J1Y XNE(HYl, A7 MY, D35 50,000
= 25,000
& 7,500
Al 17,500
AT EHESAIY (AR E DY) 3,200,000 2,703,359 496,641
Fag 2,400,000
= 240,000
Al 560,000
307 2iz2to| & 3,200,000 2,703,359 496,641
g 2,400,000
= 240,000
Al 560,000
02 It FAA S B X 3,200,000 2,703,359 496,641
OAMIIEI SH(LALEE HE0IH) 3,200,000
g 2,400,000
o= 240,000
Al 560,000
AP OHERH| X R AFS (AFSI E DY) 257,000 454 866 A 197,866
= 179,900
& 30,840
Al 46,260
307 QI2t0| & 257,000 454 866 A 197,866
2 179,900
& 30,840




2N
X ZH -
L= B

el

Ar2l & 3 M A2 o
AR H BRI =
A EBMEE 54

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 46,260
02 It M AMHEE 257,000 454,866 A 197,866
OAAHI S AL IHEHI 257,000
= 179,900
< 30,840
Al 46,260
ANSIEEZ X2 (ALSIE D1 2) 515,000 435,704 79,296
s 386,000
< 38,600
Al 90,400
307 21201 A 515,000 435,704 79,296
s 386,000
< 38,600
Al 90,400
02 B AAHE X 515,000 435,704 79,296
OAMIAHIS MIEBEZ 515,000
s 386,000
< 38,600
Al 90,400
M HFHIIY BEXA 5,000 7,000 A 2,000
201 ¢er24] 2,000 2,000 0
03 A2 Z Hl 2,000 2,000 0
OMIIBIHMZEZZE ALE 1,000, 000& *23| 2,000
301 LPEXZ 3,000 5,000 A2,000
09 HALAHIXI &3 3,000 5,000 A 2,000
O&dE MIEHZX &l XN 300,000& =10 3,000
ASIHZH EE A XA 2,224,500 1,869,600 354,900
= 1,165,000
= 317,850
Al 741,650
307 21201 A 2,224,500 1,869,600 354,900
= 1,165,000
< 317,850
Al 741,650
02 It S AHE L 2,224,500 1,869,600 354,900
OMIIHEH HEISHMIIXAG (2124H]) 1,899,000
= 1,055,000
< 253,200
Al 590,800
OMIIHZM HEISHAMIXFAS (AHEIE) 220,000
= 110,000
< 33,000
Al 77,000
OMIIFHEM HEIHAMIXAS (LEH]) 105,500
< 31,650
Al 73,850




AN AL EHZ M A2 o
M AEBMOISRE

e A EEHEE g4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
MF=EHY Al EH RA22 7,000 7,000 0
201 gBt24d| 7,000 7,000 0
02 =224 H| 7,000 7,000 0
OXF=&U A&SHH SN2 7,000
D201 AIRE XA 66,600 0 66,600
& 30,600
Al 36,000
307 2iz2to| A 66,600 0 66,600
o=t 30,600
Al 36,000
02 QIZ2IA AAIE E X 66,600 0 66,600
O0ISJ1Y AIRHE XA 66,600
o 30,600
Al 36,000
2829 43 10,700 7,380 3,320
2829 243 XN 10,700 7,380 3,320
201 et | 5,000 1,680 3,320
01 AP 2t 2] d| 5,000 1,680 3,320
OsdRY g4d3 X& 5,000
307 212t0| & 5,700 5,700 0
02 QIZtBAAIRE E X 5,700 5,700 0
OZ2FHRY A 2HRA MEZEHEX &4 5,700
AMIEHABH 4 8,431,248 6,968,720 1,462,528
= 7,372,853
o=t 271,623
Al 786,772
A EHAM XA 8,431,248 6,968,720 1,462,528
= 7,372,853
= 271,623
Al 786,772
XE X & A 6,262,271 5,331,568 930,703
= 5,638,892
o 248,112
Al 375,267
201 Bt 4d9H]| 10,000 10,000 0
= 9,000
= 400
Al 600
01 AP 22| H| 10,000 10,000 0
OXNEZ2Z2 NG XNENEH & ZIAXNEMNHSYE 10,000
= 9,000
o= 400
Al 600




2N
X ZH -
L= B

el

Ar2l & 3 M A2 o
A EHBN =4
AIHZH X2

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
301 LEHZ 1,005,000 1,005,000 0
= 904,500
< 40,200
Al 60,300
01 A3l EE E 56l = 1,000,000 1,000,000 0
OXNEZ2Z2 XNGREHH & Z2ATNEMEH2Y 1,000,000
= 900,000
= 40,000
Al 60,000
09 HALAHIX &S 5,000 5,000 0
o=z XNAXady & Z2ANEdH2Y 5,000
= 4,500
= 200
Al 300
307 glz2tol & 5,247,271 4,316,568 930,703
= 4,725,392
< 207,512
Al 314,367
05 RIZHRI & 3 5,247,271 4,316,568 930,703
o222 Atg 5,247,271
= 4,725,392
= 207,512
Al 314,367
HE=X0I3 s8kt2e 2,300 1,728 572
201 LBt 2,300 1,728 572
01 At 22l 2,300 1,728 572
OXEg=XIIz sAt2el Z208 FRAES 2,300
NETedye SAX S8+ 38,520 36,720 1,800
< 11,556
Al 26,964
307 21201 A 38,520 36,720 1,800
< 11,556
Al 26,964
11T AL SXAEE = 38,520 36,720 1,800
OXNGXEHEH SAX S8 38,520
< 11,556
Al 26,964
NaAXedsH 2R 741,188 656,220 84,968
= 504,132
Al 237,056
307 glz2tol & 741,188 656,220 84,968
= 504,132
Al 237,056
05 RIZHRI & 3 741,188 656,220 84,968
OXgGiady 2IXH 741,188




AN AL EHZ M A2 o
I AAHBN =4

e Al ZEAM X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 504,132
Al 237,056
KEXAAY (X222 BHI At 22]) 57,208 55,662 1,546
= 40,214
Al 16,994
307 2Iz2t0| A 57,208 55,662 1,546
= 40,214
Al 16,994
05 QIZ2tR EF 2 57,208 55,662 1,546
OXNEZ2Z2, NEXHEH L ZATNSHEEH2A
(Atd22l29) 57,208
2 40,214
Al 16,994
ASI S XA SXIIHE XA 7,800 4,800 3,000
307 212t0| & 7,800 4,800 3,000
11 A EXAIEEX 7,800 4,800 3,000
O=2s=2X=0F &3HIE XN 300,0008*x26H 7,800
INE= S 298,877 338,612 N 39,735
= 268,990
& 11,955
Al 17,932
301 et A= 298,877 338,612 N 39,735
= 268,990
& 11,955
Al 17,932
01 Al E & A 462 298,877 338,612 N 39,735
OXNEEHAZ 298,877
= 268,990
o 11,955
Al 17,932
22s8EU=L3 e L2 (SUINSEE) 400,264 242 564 157,700
= 360, 138
Al 40,126
307 QI2t0| & 400,264 242,564 157,700
= 360, 138
Al 40,126
05 QIZtREZ 400,264 242,564 157,700
o3 YIS s 400,264
= 360, 138
Al 40,126
228U e EZ XN (LHLYLIINSEE) 58,416 53,149 5,267
= 52,624
Al 5,792
307 2Iz2t0| & 58,416 53,149 5,267
= 52,624
Al 5,792
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Ar2l & 3 M A2 o

M MIIHBM 4
2 MEZM K CEE-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
05 RIZHRI & 3 58,416 53,149 5,267
ougIlssd 58,416
= 52,624
Al 5,792
22s8UEsSNAE LS NA(HEILIISSH) 411,204 201,138 210,066
= 369,783
Al 41,421
307 21201 A 411,204 201,138 210,066
= 369,783
Al 41,421
05 RIZt2IEt = 411,204 201,138 210,066
OHESLIIZTSE 411,204
= 369,783
Al 41,421
22sdA=SHAES NI (EEHFAHE) 153,200 0 153,200
= 138,080
Al 15,120
307 21201 A 153,200 0 153,200
= 138,080
Al 15,120
05 BIZHRIE 3 153,200 0 153,200
OFYMEAH 153,200
= 138,080
Al 15,120
M EHZH =4 5,084,390 4,989,250 95,140
= 2,000,000
Al 3,084,390
M EHZH - SREH 2435 5,084,390 4,989,250 95,140
= 2,000,000
Al 3,084,390
M2 HBH - SRZH 2438 X3 98,000 118,000 A 20,000
201 L2l 82,000 102,000 A 20,000
01 At 2t 2l 60,000 60,000 0
OMIIBZHMAIY 243 ASXH 60,000
02 =224l 22,000 42,000 A 20,000
O&E=A2HHEH XNLEFEEAG & d=4
8 NYEREs 23 22,000
203 YR =2l 16,000 16,000 0
03 AIMFXH S Z= XY 16,000 16,000 0
OMEBIHIHAIY 243 =& 16,000
MIHAMSESRNALEH 2K 608,890 595,000 13,890
307 giz2+ol & 608,890 595,000 13,890
05 BIZHRI & 3 608,890 595,000 13,890
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2N

Ab2l X Z M A2

M ANSHEM XM
Sl MEEAM - BRI 25 o HE)
- - L=
SA - =B H (3 ) - A N= dE = HRE2
ofl &F o4
CREREERSEEE T =g
SAIE A 60,000
202 04| 10,000 0 10,000
01 2L I 10,000 0 10,000
OAS & Al HIXIOIY S 10,000
301 et A =2 20,000 20,000 0
09 #HAIAHI XIS 2 20,000 20,000 0
ONANEY ASHABY ZH &
SHAE MG 20,000
307 giztol A 2,000,000 2,250,000 A 250,000
= 2,000,000
05 QIZtR ES ,000,000 2,250,000 A 250,000
OXYNTE ASHADH T4 Y
SAHER2H) 2,000,000
= 2,000,000
401 AlEHIZ £ 0HY| ,830,000 1,325,000 505,000
01 Al&H| , 797,000 1,300,000 497,000
ONYNFE ASHABA T8 L 2Y (22
XA , 797,000
02 Zeldl 30,000 20,000 10,000
ONYNEYE ASHABA T8 L 2Y (22
x4) 30,000
03 AlE 21| 3,000 5,000 A 2,000
OXEHEE ASEHHES T4 2 2 (32
x4) 3,000
HFA AL HEH JI2HE =29d 50,000 0 50,000
207 A3 I & 50,000 0 50,000
01 A 50,000 0 50,000
ONFAl AISIEHH JI2HE = =29 50,000
A& A &35 K& 4,300 0 4,300
307 QI2t01 & 4,300 0 4,300
02 QI2tAAMAIE E =X 4,300 0 4,300
OXSEF0IHA AT 4,300
NESH 29 59,000 0 59,000
201 et d| 59,000 0 59,000
01 AR 22l ] 59,000 0 59,000
OX<EsH &9 59,000
HAHSH A (AFSIHA MK D) 303,868 279,005 24,863
A2AH|(AFSI HZ M X DH) 247,496 222,633 24,863
Ol 2| (Ats| ™A X X&) 247,496 222,633 24,863




2N M EZ MK
MM HNSAAY (A EBMAD)

&l E;\;%Hl(/\fﬂﬁ%iﬂlﬂ%ﬂ}) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
101 14 Hl 247,496 222,633 24,863
01 2= 247,496 222,633 24,863
OAZIZESE 247,496
06= 11,6343 x10H +50A| 2t 128 69,804
o/ 10,5093 21 «50Al 2+« 122 132,414
8= 9,4343 «5H +50Al 2tx 1228 28,302
09 8,528% x2H «50Al 2tx 12 10,234
[ PSR Fals] 240,753,000& *2.8% 6,742
224l (AFS] =2 H Xl & 1) 56,372 56,372 0
Jl2dl (Ml HZ M X&) 56,372 56,372 0
201 L2l 21,872 21,872 0
01 At 22l 21,872 21,872 0
ORIt =1:] 9,640
O= &l 11,232
o=zg=¢ 1,000
202 04 Hl 28,200 28,200 0
01 = LH o4 1l 28,200 28,200 0
OJIegdRF=& 28,200
203 R =&l 6,300 6,300 0
01 J122Z YR =4 3,300 3,300 0
OAMBIHIMAASHE 3,300
04 EA2IYRFLH| 3,000 3,000 0
ORN2EYEF=AHI 250,000& 1228 3,000
MHPES(ArSI = Z H X2 D) 1,204,000 0 1,204,000
LHEHH XIS (ArSI & Z H K& 1) 1,204,000 0 1,204,000
ANSIHAMESS I3 KA (A3 HZ M2 D) 400,000 0 400,000
702 JIS3HES 400,000 0 400,000
01 JI3d&E= 400,000 0 400,000
OMEIHZMN 243t g X& 400,000
MIEHIIS X (AMSEHB M) 804,000 0 804,000
702 )1 SHEZS 804,000 0 804,000
(O RWIE=RSE-= 804,000 0 804,000
OAMIIEEIZ NA(NEMNY S22 HE) 804,000




